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Note: Answers may be written either in English or
in Hindi; but the same medium should be
used throughout the paper.
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Question No. 1 is compulsory.
Attémpt any two of the remaining four.
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Marx says, “The hand mill gives you a society
with feuda! lord, steam mill society with
Industrial capitalist.” According to I. Garley this
staternent overemphasizes technological to the
neglect of the dialectical. Discuss.
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What are the three contrasting Post-Fordist

- perspectives which describes the nature of
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(.apltahst development ? Critically analyze.
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The growth of commerce can not be considered as
the [!)rincipal force in either the dissolution of
feudalism or in, creation of capitalism. In light of
this s;tatement,' bring out the factors that led to the
transition from feudalism to capitalism.
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Distinguish between possibility theories and
necessity theortes of capitalist crisis. Discuss the
recent crisis in Global Capitalism. Do you think
government’s intervention helps to overcome
these challenges ?
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How does Schumpeter justify the need for
monopolistic practices under capitalism even
though their use violates the generally prescribed
conditions for economic efficiency ?
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“A regime of multinational corporation would
offer underdeveloped countries neither national
interdependence nor equality.” Explain this
statement in terms of law of increasing firm size
and law of uneven development.
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